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Question1:-Why is tropical rainfall highly erosive ?
A:-Tropical rainfall falls with high intensity and often in large amounts
B:-Tropical landscapes are covered with dense vegetation
C:-High slope of the tropical regions
D:-Population density
Correct Answer:- Option-A

Question2:-"Space is not something objective and real, nor is it a substance or an accident, or a relation, but it is subjective
and ideal, and proceeds from the nature of the mind by an unchanging law, as a schema for coordinating with each other
absolutely all things externally sensed". This statement is from

A:-Erdkunde by Carl Ritter

B:-Critique of Pure Reason by Immanuel Kant
C:-The Origin of Species by Charles Darwin
D:-Kosmos by Alexander von Humboldt
Correct Answer:- Option-B

Question3:-The long-term accumulation of sediment in a channel and the readjustment of the stream profile where there is
a vertical growth of the land surface in response is known as

A:-Abrasion
B:-River rejuvenation
C:-Aggradation
D:-Stratigraphic succession
Correct Answer:- Option-C
Question4:-The late 207 (th)" century cultural turn in geography is marked with

A:-Is conceived as the establishment of a critical system, which embraces the phenomenology of landscape, in order to
grasp in all of its meaning and colour the varied terrestrial scene

B:-The belief that human knowledge is produced by the scientific interpretation of observational data

C:-Inclusive of multiple knowledges, particularly those of Indigenous voices and more-than-human actors, including
digital technologies, and importance to areas of contemporary social and environmental justice

D:-Use quantitative techniques and tools that include such things as computerized mapping and geographic
information systems, spatial analysis and patterns, aerial distribution, densities, movement and transportation

Correct Answer:- Option-C
Question5:-Indian monsoon is influenced by the following major factors
i. the seasonal thermal contrast over land
ii. the east-west alignment of the high Himalaya Mountains
iii. Large number of rivers in the subcontinent
iv. Deccan plateau and coastal plains

A:-iv

B:-ii and iii
C:-iandii
D:-i and iii

Correct Answer:- Option-C

Question6:-A branch of geographical work informed by the political philosophy which is opposed to the state and any form
of authority, hierarchy and domination.

A:-Anarchist geography

B:-Humanistic geography

C:-Radical geography

D:-Regional geography

Correct Answer:- Option-A
Question7:-Yardangs are formed due to

A:-Fluvial erosion in wet regions



B:-Wind abrasion in arid regions
C:-Removal of sediments by waves in the coasts
D:-Deposition by wind in arid regions
Correct Answer:- Option-B
Question8:-Absolute understanding of space
A:-analyse how space is constituted and given meaning through human endeavour

B:-understood as a system of organization, a geometry, 'a kind of absolute grid, within which objects are located and
events occur'

C:-areas unaltered by human actions
D:-separation between nature and humanity
Correct Answer:- Option-B

Question9:-The three-dimensional air circulation from the lower latitudes, where there is surplus solar radiation, heat is
dissipated to the higher parallels by wind is known as the

A:-Walker circulation
B:-Hadley cell

C:-Ferrel cell

D:-Polar cell

Correct Answer:- Option-B

Question10:-Which one of the following statement is correct with critical geographers

i. Commitment to state policies

ii. Shared commitment to emancipatory politics within and beyond the discipline

iii. Broader focus on the multiple axes of power and difference that create social and economic divides
iv. Promotion in the use of sophisticated technologies in the discipline

A:-ii is correct
B:-i and iv are correct
C:-ii and iii are correct
D:-i is correct
Correct Answer:- Option-C
Question11:-Social Darwinism can be best explained as
A:-A natural process of variation, struggle and the selection of traits favourable for survival
B:-Social movements to protect nature

C:-State as in its nature, like a biological organism or a living being and that the relation between the state and the
individual is the same as between an organism and its cell

D:-The application of biological evolutionary theories to society naturalized the social order, and was, in many
instances, used to legitimize class and racial hierarchies

Correct Answer:- Option-D

Question12:-The extent to which different climatic regimes are potentially capable of exerting direct and indirect influences
on geomorphic processes and thereby of generating different landform assemblages is known as

A:-Morphometric regions
B:-Agro-climatic regions
C:-Morphogenetic regions
D:-Periglacial regions
Correct Answer:- Option-C
Question13:-The book space, place and gender authored by
A:-Gillian Rose
B:-David Harvey
C:-Doreen Massey
D:-Linda McDowell
Correct Answer:- Option-C

Question14:-"A surface of low relief worn down to near sea level and formed through erosion over protracted spans of time"
is the concept of

A:-Natural selection by Charles Darwin

B:-Sea level rise by Bruun

C:-Slope replacement by Walter Penck

D:-Peneplain by W.M. Davis

Correct Answer:- Option-D
Question15:-"Altering of the qualities of space-time and the relationship between space and time is a consequence of the
expansion of capital", this idea is explained in geography as

A:-Time-space modelling

B:-Space time continuum

C:-Time-space compression



D:-Space time expansion
Correct Answer:- Option-C
Question16:-The origin of Himalayas as folded mountains are best explained by
A:-Glacier control theory
B:-Plate tectonics theory
C:-Environmental determinism
D:-Polar front theory
Correct Answer:- Option-B

Question17:-Who coined the phrase the right to the city to describe working class struggles for political participation and
access to physical space in the city ?

A:-Nigel Thrift in 1991
B:-David Harvey in 1973
C:-Neil Smith in 1984
D:-Henri Lefebvre in 1968
Correct Answer:- Option-D
Question18:-Tropical cyclones have been described as geomorphic events in parts of the humid tropics. Why ?
A:-Tropical cyclones are high-magnitude low-frequency events that are capable of causing large landform alterations
B:-Tropical cyclones develop only in summer, particularly in late summer when the sea surface temperature is
especially high
C:-The small disturbances or lows that may develop into a tropical cyclone usually come from small vortices near the
ITCZ or easterly waves
D:-In a tropical cyclone, the clouds are seen as long streets spiralling inward from the outer edges
Correct Answer:- Option-A
Question19:-Environmental pollution often decreases biodiversity by
A:-Dramatically changing abiotic factors in the environment
B:-Introducing new species to a region
C:-Overexploiting organisms in their natural environments
D:-Reducing the number of pathogens in a region
Correct Answer:- Option-A
Question20:-Drainage density is
A:-A measure of the length of stream channel per unit area of drainage basin
B:-A measure of the number of stream channels per unit area of drainage basin
C:-A measure of the length of stream channel per unit volume of drainage basin
D:-A measure of the number of stream channels per unit volume of drainage basin
Correct Answer:- Option-A

Question21:-Widespread deforestation and land use changes in the Western Ghats implies that
i. Changes in the physical environment causing catastrophic events like landslides

ii. Changes in the spatial distribution of the rainfall

iii. Increased human wildlife conflicts

A:-i and ii are correct
B:-All three are correct
C:-i only correct
D:-ii and iii are correct
Correct Answer:- Option-B

Question22:-Ecosystem sustainability primarily results from the
A:-Relationships between the organisms in an ecosystem
B:-Number of predators found in the ecosystem
C:-Frequency of fires or other natural disasters in an ecosystem
D:-Total amount of biomass that exists in an ecosystem
Correct Answer:- Option-A

Question23:-Ecological problems are at their core social and political problems - a view shared by
A:-Environmental economics
B:-Political ecology
C:-Deep ecology
D:-Environmental science
Correct Answer:- Option-B

Question24:-ENSO refers to
A:-El Nifio and La Nifia
B:-El Nifio and Southern Oscillation
C:-La Nifa and Southern Oscillation



D:-El Nifio and Southern Ocean Temperature
Correct Answer:- Option-B
Question25:-Nigeria is one of the petroleum rich countries in the world. However, petroleum products are very expensive
back in Nigeria, so most people cannot afford it or the lifestyle of cars and material items that accompanies it. Why ?
A:-Ethnic clashes between various tribal groups
B:-People of Nigeria does not prefer the lifestyle of cars and material items that accompanies it.

C:-The petroleum pumped from Nigeria's lands and seas by multinational corporations is refined in other countries. The
entire revenue from petroleum goes to MNCs, which are based in developed regions.

D:-Predominantly pastoral communities
Correct Answer:- Option-C

Question26:-Climatologists warn of a tipping point when global temperatures trigger catastrophic events and sea levels rise
more than 50 feet. About how much warmer does the world need to get this tipping point to happen ?

A:-1.5°C
B:-3.5°C
C:-7.5°C
D:-12°C
Correct Answer:- Option-A
Question27:-A theme related to food mile is
A:-Globalisation of food culture
B:-Expansion of commercial agriculture
C:-Integration of small holder farmers to global markets
D:-Local food that buying directly from a local farmer is beneficial to the local economy and the environment
Correct Answer:- Option-D

Question28:-Because of their geographical isolation, these species end up in acquiring unique traits derived from evolution.
Such species are known as

A:-Endangered species
B:-Endemic species
C:-Red listed species
D:-Hot spots

Correct Answer:- Option-B

Question29:-The term referring for 'Urban social relationships operate and evolve through complex interactions with the
natural environment'

A:-Urban metabolism

B:-Cosmopolitanism

C:-Fordism

D:-Revanchism

Correct Answer:- Option-A
Question30:-Various discontinuities between different layers of the Earth's interior are due to

A:-Chemical changes

B:-Structural changes

C:-Seismic velocity changes

D:-All of them

Correct Answer:- Option-D

Question31:-A radical methodology for description that opens the field of meaning constitution to investigation, displaying
the evidence upon which meaningful and valuable entities, events and the limits of the experiential horizon appear within
experience

A:-Phenomenology
B:-Pragmatism
C:-Existentialism
D:-ldealism

Correct Answer:- Option-A

Question32:-A social scientific analysis for making sense of recorded human communication including news media, policy
documents, letters and even video or novels - particularly, written texts.

A:-Content analysis
B:-Multivariate analysis
C:-Predictive analysis
D:-Causal analysis
Correct Answer:- Option-A
Question33:-The smallest division of geological time scale is
A:-Eon



B:-Eras

C:-Stage

D:-Periods

Correct Answer:- Option-C

Question34:-A term denotes a binary relationship between femininity/masculinity, so that feminine men are not "normal",
nor are masculine women.

A:-Queer
B:-Heteronormativity
C:-Homosexuality
D:-Patriarchy

Correct Answer:- Option-B

Question35:-The right to ethical, balanced and responsible uses of land and renewable resources in the interest of a
sustainable planet for humans and other living things is the idea of

A:-Corrective Justice
B:-Procedural Justice
C:-Environmental Justice
D:-Retributive Justice
Correct Answer:- Option-C
Question36:-Role of a place in the formation of the identity of people is described as
A:-Topophilia
B:-Topological space
C:-Placelessness
D:-Absolute space
Correct Answer:- Option-A

Question37:-A process of neighbourhood transformation in which working class and poor residents are displaced by an influx
of middle class residents.

A:-Gentrification
B:-Commodification
C:-Revanchism
D:-Devalorization

Correct Answer:- Option-A

Question38:-The core of the city, where transport networks converge and land uses are dominated by retail and office
functions.

A:-Central Business District
B:-Commuters zone
C:-Residential District
D:-Working class zone
Correct Answer:- Option-A

Question39:-Capitalism's attempts for geographical expansion and restructuring to address its inability to grow indefinitely
is referred as

A:-Globalisation

B:-Structural adjustments

C:-Neoliberalism

D:-Spatial fix

Correct Answer:- Option-D
Question40:-Which among the following is not an immutable resource ?

A:-Hydel energy

B:-Wind energy

C:-Solar energy

D:-Atomic energy

Correct Answer:- Option-A

Question41:-In the agricultural landuse model proposed by von Thunen, which of the following is located nearest to the city
centre ?

A:-Forests
B:-Crops
C:-Dairy farms
D:-Ranches
Correct Answer:- Option-C
Question42:-Least Cost Approach to Industrial Location was put forth by
A:-Toad Palander



B:-Harold Hotelling
C:-Edgar Hoover
D:-Alfred Weber
Correct Answer:- Option-D
Question43:-Which among the following statements regarding LAFTA is correct ?
i. It is an organisation comprised of 10 Latin American Nations
ii. Serves as a forum for the creation of greater economic ties among Latin American Nations
iii. It is established by a treaty signed in Montevideo in 1960

Ac-i, i & i
B:-i &
Ci-ii &
D:-i &iii

Correct Answer:- Option-C
Question44:-Whittlesay's agricultural regionalisation is based on which of the following characteristics ?
i. The crop and livestock association
ii. Crop diversification strategies
iii. Marketing of the products
iv. Agricultural infrastructure

Ac-i, i & i
B:-ii, iii & iv
C:-i, iii & iv
D:-i, ii & iv

Correct Answer:- Option-C

Question45:-According to August Losch which among the following variable is considered as most important for the location
of industries ?

A:-Transport cost
B:-Labour cost
C:-Cost of raw material
D:-Demand
Correct Answer:- Option-D
Question46:-As per the Product Life Cycle Theory, in the maturity stage
A:-Sales volume increases at a rapid rate
B:-Sales volume increases at a slower rate
C:-Sales volume neither increases nor decreases
D:-Sales volume declines
Correct Answer:- Option-B
Question47:-Which among the following is an example of Potential resource ?
A:-Mineral oil
B:-Trees
C:-Coal
D:-Soil
Correct Answer:- Option-A
Question48:-The science dealing with the geometric shape and size of the earth is
A:-Geometry
B:-Geodesy
C:-Geology
D:-Geostatistics
Correct Answer:- Option-B
Question49:-The angle between the direction of the plumb line and the plane of the equator is called
A:-Geocentric latitude
B:-Geographic latitude
C:-Astronomical latitude
D:-Geodetic latitude
Correct Answer:- Option-C

Question50:-Identify the correctly matched pairs
i. Conical projection - Midlatitudes
ii. Gall's projection - World map
iii. Globular projection - Hemispheres
A, i &
B:-i only
C:-ii & iii



D:-ii only
Correct Answer:- Option-A
Question51:-Which among the following Regarding datum plane is correct ?
A:-It gives mean Earth gravity
B:-It is the origin of further comprehensive linear measurements
C:-It establishes the base level for determining elevation
D:-It denotes the magnetic declination
Correct Answer:- Option-C
Question52:-According to Robinson, the fundamental elements of the visual outlines of a map are
i. The plane
ii. The phenomena portayed
iii. The position of phenomena in the area
iv. The relative position of the symbols

A-i &

B:-i, ii &
Ci-i &iii

D:-i, i, iii & iv

Correct Answer:- Option-D
Question53:-When the altitude of a place are represented on the map by numerical values, they are called
A:-Hachures
B:-Spot heights
C:-Contours
D:-Tinting
Correct Answer:- Option-B

Question54:-A resampling technique that uses the distance weighted average of the nearest four MSS pixel reflectance
values is called

A:-Bilinear interpolation
B:-Contrast enhancement
C:-Nearest neighbour resampling
D:-Percentage contrast stretch
Correct Answer:- Option-A
Question55:-The wavelength of Visible Region in the electromagnetic spectrum

A:-0.4 — 0.7 ym
B:-0.7 — 1.0 um
C:-0.7 = 3.0 um
D:-0.7 = 1.3 ym

Correct Answer:- Option-A
Question56:-Which among the following regarding Rayleigh Scattering is correct ?
i. It takes place in the lower 4.5 kms of the atmosphere
ii. It takes place in the upper 4.5 kms of the atmosphere
iii. It is responsible for the blue appearance of the sky

Ac-ii & ii
B:-i & iii

C:-i only
D:-ii only

Correct Answer:- Option-A
Question57:-Which among the following is a part of Active remote sensing ?
A:-LISS
B:-MSS
C:-T™M
D:-SAR
Correct Answer:- Option-D
Question58:-The interpolation technique that minimises overall surface curvature is
A:-Kriging
B:-Inverse distance weighted technique
C:-Spline
D:-Rasterisation
Correct Answer:- Option-C
Question59:-The object-based vector model that is most suited for GIS operations is
A:-Spaghetti Model



B:-Vertex Dictionary Model
C:-DIME Model
D:-Topological Model
Correct Answer:- Option-D
Question60:-An example for DBMS is
A:-ENVIS
B:-ArcGIS
C:-QGIS
D:-ILWIS
Correct Answer:- Option-A
Question61:-The process which removes positional discrepancies at adjacent edge of two maps is called
A:-Rubber sheeting
B:-Subsetting
C:-Edge matching
D:-Despeckling
Correct Answer:- Option-C
Question62:-Keyhole Markup Language is associated with
A:-ERDAS
B:-GOOGLE EARTH
C:-ARCVIEW
D:-MAPINFO
Correct Answer:- Option-B
Question63:-The lacustrine deposits in Kashmir Valley are known as
A:-Karens
B:-Karewas
C:-Kames
D:-Kettles
Correct Answer:- Option-B
Question64:-The leading producer of sugarcane in India is
A:-Maharashtra
B:-Karnataka
C:-Madhya Pradesh
D:-Uttar Pradesh
Correct Answer:- Option-A

Question65:-Identify the correct statements regarding the Indian Monsoon

i. It is influenced by the Tropical Easterly Jetstream

ii. Western and North Eastern India receives more than 90% of the annual rainfall from the summer monsoon
iii. Monsoon is of thermal origin

A:-i only
B:-i, ii & iii
C-i &
D:-i & iii

Correct Answer:- Option-B
Question66:-The largest reserve of Fuller's Earth in India is in
A:-Andhra Pradesh
B:-Bihar
C:-Rajasthan
D:-Arunachal Pradesh
Correct Answer:- Option-C
Question67:-The Kottai Malai forms part of
A:-Wayanad Plateau
B:-Munnar Plateau
C:-Periyar Plateau
D:-Nelliyampathi Plateau
Correct Answer:- Option-C
Question68:-The Net Sown Area in Kerala is highest in
A:-Pathanamthitta
B:-Kottayam
C:-Thiruvananthapuram
D:-Kollam



Correct Answer:- Option-B
Question69:-The district most vulnerable to coastal erosion in Kerala is
A:-Alappuzha
B:-Ernakulam
C:-Thiruvananthapuram
D:-Kollam
Correct Answer:- Option-C
Question70:-Which among the following is a Community Reserve in Kerala ?
A:-Agasthyamalai
B:-Silent Valley
C:-Kadalundi-Vallikkunnu
D:-Pathiramanal
Correct Answer:- Option-C

Question71:-Consider the following :

i. Communicating Information

ii. Understanding the Concepts and Inculcating Values

iii. Helping in development of Intellectual and Subject specific skills
iv. Instill a quest for learning and makes learning exciting

Identify which of the above are the major objectives of Teaching :

A:-i, i and iii
B:-i and iv only
C:-i, iii and iv
D:-i, i, iii and iv

Correct Answer:- Option-D
Question72:-Consider the Forms of Memory :
i. Permanent Memory
ii. Active Memory
iii. Mechanical Memory
iv. Personal Memory
Identify which of the above are used in Memory Level of Teaching (MLT) :

A:-i and ii only

B:-i and iii only
C:-ii and iii only
D:-i, i, iii and iv

Correct Answer:- Option-A
Question73:-The most comprehensively used and oldest pedagogical method in which the teacher presents a series of facts,
theories, events or principles. It is based on the philosophy of Idealism. The method is
A:-Lecture Method
B:-Micro-Teaching Method
C:-Discussion Method
D:-Tutorial Method
Correct Answer:- Option-A
Question74:-Consider the following :
i. Applications
ii. Blackboard and Chalk
iii. Charts and Maps
iv. Interactive Boards
v. Models and Globes
vi. Text books and Work books
Identify which of the above are utilized in a traditional learner support system as Teaching Aids :
A:-i, ii and iv only
B:-i, iii, v and vi only
D:-All of the above
Correct Answer:- Option-C
Question75:-Consider the following statements :
i. Pedagogy is the study of teaching methods which includes aims of education and the path through which such goals may
be achieved.
ii. Cognitive growth, Psychomotor learning and Affective learning happens mainly during the schooling stage of any
individual.
Identify which of the above statement is/are correct and answer using the codes given below :
A:-i only



B:-ii only

C:-Bothiandii
D:-Neither i nor ii

Correct Answer:- Option-C

Question76:-The branch of philosophy that addresses the nature, origin and scope of knowledge and related issues is known
as

A:-Axiology
B:-Epistemology
C:-Metaphysics
D:-Aesthetics

Correct Answer:- Option-B

Question77:- refers to a kind of matching between the already existing cognitive structures and the environmental
needs as they arise.

A:-Assimilation

B:-Accommodation

C:-Equilibration

D:-None of these

Correct Answer:- Option-A
Question78:-Theory of trail and error learning or connectionism developed by

A:-Pavlov

B:-Skinner

C:-Thorndike

D:-Kohler

Correct Answer:- Option-C

Question79:-According to Freud, a child passes through the different stages with respect to the psycho-sexual development.
Arrange them in a correct order.

A:-Genital, latency, phallic, anal, oral
B:-Oral, anal, phallic, latency, genital
C:-Oral, phallic, latency, anal, genital
D:-Latency, phallic, oral, anal, genital
Correct Answer:- Option-B
Question80:-This domain of learning is characterised by "doing" aspect of our behaviour.
A:-Affective
B:-Cognitive
C:-Conative
D:-None of these
Correct Answer:- Option-C
Question81:-The Amendment procedure of the Constitution is based on the method of
A:-Constitution of South Africa
B:-Government of India Act, 1935
C:-Constitution of Ireland
D:-Constitution of Germany
Correct Answer:- Option-A
Question82:-The Model Code of Conduct (MCC), enforced by Election Commission of India during election is in line with
A:-Supreme Court directions
B:-Delimitation Acts of Parliament
C:-Representation of People's Act
D:-Guideline of Election Commission
Correct Answer:- Option-D
Question83:-Who does remove the Chairperson and members of State Public Service Commission ?
A:-Governor
B:-Supreme Court
C:-The President
D:-Chief Minister
Correct Answer:- Option-C
Question84:-Who called Indian Federalism is a "bargaining federalism" ?
A:-K.C. Wheare
B:-Morris Jones
C:-Granville Austin
D:-lvor Jennings



Correct Answer:- Option-B

Question85:-Which one of the following pairs is NOT correctly matched, in the Centre-State Legislative relations is
concerned ?

A:-Betting and gambling — State List
B:-Capitation Taxes — Union List
C:-Trust and Trustees — Concurrent List
D:-Family Planning — Concurrent List
Correct Answer:- Option-B
Question86:-When was the Transplantation of Human Organs Act passed ?
A:-1995
B:-1994
C:-1992
D:-1993
Correct Answer:- Option-B
Question87:-Who is the monitoring authority of blood banks in States in India ?
A:-Aids Control Society
B:-Health Minister
C:-Drug Controller
D:-Health Service Director
Correct Answer:- Option-C
Question88:-When did the Surrogacy Act-2021 got the assent of President of India ?
A:-25.12.2021
B:-31.12.2021
C:-25.11.2021
D:-25.01.2022
Correct Answer:- Option-A
Question89:-What is the procedure of pregnancy to be terminated after 24-weeks as per MTP-Act 2021 ?
A:-Advice of three-Registered Medical Practitioners
B:-Advice of State-level Medical board
C:-Advice of Medical board of two-Registered Medical Practitioners
D:-Advice of District-level Medical board
Correct Answer:- Option-B

Question90:-What is the tenure of Chief Information Commissioner and Information Commissioners at Centre and State level
as per RTI-(Amendment) Act-2019 ?

A:-3% years

B:-4 years

C:-5 years

D:-3 years

Correct Answer:- Option-D

Question91:-The Christians in Travancore were divided into
i. Protestants, Catholics and Syrians

ii. Catholics and Protestants

iii. Syrians and Catholics

A:-All of the above (i, ii & iii)
B:-Only ii & iii

C:-Onlyi

D:-Only i & iii

Correct Answer:- Option-C

Question92:-The first recorded reference to the word 'Ezhava' is found in
i. Jewish Copper Plate

ii. Travel accounts of Duarte Barbosa

iii. Tharisappally Copper Plate of 848-849 AD

A:-Only iii

B:-Only ii

C:-Only i

D:-None of the above
Correct Answer:- Option-A

Question93:-Through Yuktivadi Sahodaran Ayyapan criticised
i. The 'Hindu Mahamandal' formed by Mannath Padmanabhan
ii. The religious perceptions of Gandhi

iii. The intermediary role played by priests



A:-Only i and ii
B:-Only iii
C:-Only i
D:-All of the above
Correct Answer:- Option-D
Question94:-The first Ezhava Siva temple was established at Etakkad in 1854 by
i. Velayudha Panickar
ii. Sree Narayana Guru
iii. Vaikunta Swamikal
A:-Only iii
B:-Only ii
C:-Only i
D:-None of the above
Correct Answer:- Option-C
Question95:-The Sarva Mata Sammelanam was organised in 1924 by
i. Congress Socialist party
ii. Indian National Congress
iii. Sree Narayana Guru

A:-Only i

B:-Only ii

C:-Only iii

D:-None of the above
Correct Answer:- Option-C

Question96:-Justice Verma Committee Report

i. Is a federal law passed in 2015 that prohibits sexual harassment in higher education institutions

ii. Recommended amendments to the Criminal Law dealing with sexual assault against women and children
iii. Passed in 2012 and deals only with the protection of children from sexual offences

A:-Only i

B:-Only ii

C:-Only iii

D:-None of the above
Correct Answer:- Option-B

Question97:-Directive Principles of State Policy

i. Impose a moral obligation on the State authorities for their application
ii. Are not enforceable by the courts for their violation

iii. Are incorporated to attain the ultimate ideals of the preamble

A:-Only i

B:-Only ii

C:-Only iii

D:-All of the above

Correct Answer:- Option-D
Question98:-National Electronic Funds Transfer is under the control of
i. Reserve Bank of India
ii. Securities and Exchange Board of India
iii. Ministry of Finance

A:-Only i

B:-Only ii

C:-Only iii

D:-None of the above

Correct Answer:- Option-A

Question99:-GRE

i. Is a language test on speaking, reading and writing skills

ii. Is a test with analytical writing, verbal reasoning and quantitative reasoning
iii. Is a language test for healthcare professionals

A:-Only i

B:-Only ii

C:-Only iii

D:-None of the above
Correct Answer:- Option-B



Question100:-Under Covid 19 conditions the Fundamental Right to life was interpreted to include
i. Equal access to healthcare

ii. Protection of livelihood

iii. Decent burial

A:-None of the above
B:-Only ii

C:-Only i

D:-Only iii

Correct Answer:- Option-D



